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BB 1842 9 A o [H # 174 9 A o [ # 18 4= 3 A #

BHERL 1884 A 1A R 1744 A 1R R 174 A 1R

FEERL 1849 H30H FEERL 1749 A30H FEERL 1843 A31H
o H & #H Epaze & | ERaze & HH ERaze
% % %
7e = [ 152, 947 100. 0 139, 319 100. 0 312, 072 100. 0
7e = JR i 95, 417 62. 4 84, 400 60. 6 190, 848 61.2
7 = A F A 57, 530 37.6 54,919 39.4 121, 224 38.8
o Bk O EE R 52, 990 34.6 53, 426 38.3 109, 379 35.0
2 ES 1l i 4, 540 3.0 1,493 1.1 11, 845 3.8
B ES o+ I i ( 16,854 ) (11.0) ( 23,015) (16.5) ( 24,305) (7.8)
Z BORF OB kU R Y & 15,432 10. 1 21, 852 15.7 22,128 7.1
z ) 1 1,422 0.9 1,163 0.8 2,177 0.7
B ES 0 2 H (1,692 ) 1.1 (1,890 ) 1.4 ( 4,320) 1.4
X E2N 1l 5 224 0.1 209 0.1 399 0.1
7 & il Gl 568 0.4 695 0.5 1,402 0.4
v " 7 #H 503 0.3 769 0.6 1,719 0.6
e ) it 397 0.3 217 0.2 800 0.3
% H gl £ 19, 702 12.9 22,618 16.2 31, 830 10.2
i Gl 1l i 18, 315 12.0 11, 111 8.0 11,637 3.7
i Gl H ES 1,039 0.7 1,893 1.3 4,378 1.4
BLal B (2 ) R 2R 36,978 24.2 31, 836 22.9 39, 089 12.5
EAB., AR L OEER 446 0.3 1,798 1.3 5, 537 1.7
HEON OBLO% OB M 8,619 5.6 5,175 3.7 4,920 1.6
oM (Y # ) MR 4R 27,913 18.3 24, 863 17.9 28, 632 9.2
G Y - S <A/ I — — 8,179 — 8,179 —
H oo B X Ly E A — — — — 7 —
& B ORE AN 2= AR 4 HOR B — — AAT — A 47 —
BT & D R T ABH — — — — 633 —
ol fi&] [ e # — — — — 2, 857 —
homE () R R R — — 32,995 — 34, 533 —
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